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1. BHEICHD D ZERRE OEE

< HEBJRHI >
AL 3 O 4R
T&EHR 70. 8%
EFAGE T BHZL
e 52. 4%
THBIASS 0%
B FR AL
HELEAR 60. 0%
WEFIEAS AL
= WA S B AL
MELRAR BHZL
2T 64. 0%
< kAR >
Rk 3 0 4R
BB 69. 4%
TRE t - ShHEEIBGH 80. 0%
S LI 0%
KAt R L
B R 100. 0%
AL 5 100. 0%
(N 100. 0%
RN 0%
E1a 0 %
R 0 %
(= Fifi 14. 3%
it ik 77. 8%
[ I L i ik 33. 3%
FEF Rl 100. 0%
AR 64. 0%
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Rk 3 0 4E R

T&EHR 23. 2% (234)
R AKGE T 0%

7 B gpib 38. 0% (194)
THBIASR 0%
BRFBR 0%

HELEAS 41. 7% (54)
BEFHEAR 0%
R e = W/ S = B 0%
REZAR 0%

2T 24. 5% (4 74)
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< BB HH PEIRAR >

SRk 3 0 4R

MR R 62. 5%

R AGE ST 100. 0%

a1 50. 0%

TH B A 85. 7%
CoEas S a5 -
BELZAR -
BEEHEAS —
BEAZD - AFEAS —
REZAR -

2JT 71. 4%
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SRk 3 0 4R

MR R 12. 5%

R AKGEFERT 100. 0%
1 ERIEPE 0%

TH B A 28. 6%
CoEas S 5 -
BELZAR -
BEEHEAS —
= W/ O S = Ea —
REEAR -

2T 23. 8%
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VAR A
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<HR Rl >
)R Rk 3 0 4FE
TR JR 25. 0%
R AKGE T 0%
T R 0%
THBASE 0%
CEak S 95| -
Hh AEEAS -
BREREAR -
e = /A & B —
REZAR —
2T 9. 5%
TREJR 100. 0%
R AKGE T —
e 100. 0%
THB A -
EoEak S b -
i HEEAS -
BREHREAR -
R e = /A S B -
REZAR —
2T 100. 0%
< Wik y1) >
ik Rk 3 0 A FE
Sk 25. 0%
feit iy 100. 0%
TR 0%
AUk 0%
B PR L - SRR 2 0%
T BNk 0%
Tt ik 0%
55 Dh e 0%
SN 9. 5%
Rk 100. 0%
RE 1 - SHE R 2 100. 0%
_— 1%1?%&!]1 100. 0%
Tt ik 100. 0%
[ 4 Bl ik 100. 0%
AR 100. 0%




